Bryan Berns

ECE 313 – Optics Lab

Lab 6 – Fiber Optic System Simulation
Data, Calculations, and Graphs:
Eye Graphs (attached).
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(I think I’m missing one of our printout’s but Tom says I’m not so I’ll just assume that’s all we needed for the lab data)

Questions:
1) Calculate the power received at the receiver assuming Ptr = 10dBm and .2 db/km?

Assuming variable length:
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2) What conclusions can you make from the BER vs. attenuation graph?  Comment on the eye diagrams as the value of attenuation increases.
As attenuation increases, BER increases.  The signal disperses, the eye ‘closes’.

3) Calculate the amount of power at the receiver for which Bit error rate of 10^-9 is achieved.  The output power from the laser can be obtained from the signal waveform graph.
Where are all the parameters we need?!?!  Assuming we’re using the lab data and we found a length (L) and attenuation (alpha) which gave us that Bit error rate, then we can calculate the power received by:
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4) What conclusions can you make from the BER vs. Receiver Optical Power graph?
As the receiver power increases, BER decreases.
5) Comment on the eye diagrams as the value of BER increases.

The signal disperses, the eye ‘closes’.
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